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S 111 SEA (Ebs): 1S
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= % 625,400,238|  577,584.801| 47,824,347
100 XI2t Al 2] 135,078,000] 135,733,000 245,000
110 XA 35,078,000| 135,733,000 245,000
111 SEAl 120,612,000] 120,783,000 A171,000
111-04 Z= 1A 60,763,000 58,563,000 2,180,000
[ LEH5IH ] 60,763,000 58,583,000 2,180,000
< HSD > 60,763,000 58,563,000 2,180,000

O FolAl 60,763,000,0008 * 1A 60,763,000
111-05 THAHA] 13,207,000 2,200,000 1,007,000
[ et A ] 13,207,000 12,200,000 1,007,000
< N2> 13,207,000 12,200,000 1,007,000

O THAHA] 13,207,000,0002 * 141 13,207,000
111-06 Xt= XHA 12,500,000 12,000,000 500,000
[ stz | 12,500,000 12,000,000 500,000
< NS> 12,500,000 12,000,000 500,000

O XS XAl 12,500,000,000& * 14] 12,500,000
111-10 &bBHABIAl 15,624,000 14,709,000 915,000
[ LEH5IH ] 15,624,000 14,709,000 915,000
< H2D > 15,604,000 14,709,000 915,000

O Ui AHI Al 15,624,000,000& * 14] 15,624,000
111-11 =84 18,518,000 23,291,000]  ~4,773,000
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2110 XA
3111 BN CEHE-E)
SR T o ey usoae | HDE

EEEEE 8,518,000 23,291,000]  ~4,773,000
< HRD > 8,518,000 23.091,000]  ~4,773,000

O Z=sA 18,518,000,0002 * 1Al 18,518,000
12 S=A| 14,436,000 13,650,000 786,000
112-01 SAIIE A 7,450,000 7,000,000 450,000
[ 2eis | 7,450,000 7,000,000 450,000
<HSD > 7,450,000 7,000,000 450,000

O SAIHEA 7,450,000,0008! * 141 7,450,000
112-03 AP A A 6,986,000 6,650,000 336,000
[ 2ets | 6,986,000 6,650,000 336,000
< H2D > 6,986,000 6,650,000 336,000

O AFQAA 6,986,000,0008! * 14! 6,986,000
13 X 4l 930,000 1,300,000 A370,000
113-01 Xl =49 930,000 1,300,000 A370,000
EEEPE 930,000 1,300,000 A370,000
< HRD > 930,000 1,300,000 A370,000

O NHEELY 930,000,000 * 14 930,000
200 MI2I4] 53,674,513 41,091,432 2,563,081
210 ZAE A 2l 19,096, 143 18,277,460 818,674
211 TR [ 42l 466,413 438,052 28,361
211-01 ZRMAUUS 140,000 126,000 14,000
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[ 2us ] 140,000 26,000 14,000
< B > 140,000 126,000 14,000
O ==& JUH= 140,000& * 2,0002 Xl * 50/100 140,000
211-02 BRMAAHE 326,413 312,02 14,361
[ LEtsIH ] 326,413 312,052 14,361
< 3D > 278,000 260,000 18,000
O BEME LUWR(EX) 550,0002 * 4602 X 253,000
O 32U AISZ(AE) 5,000,000& * 5JH2 25,000
< HSNAD > 18,501 19,501 A1,000
O YOIBIIZ(HEHLE 2| OH2) 1,400,002 * 10JHA 14,000
O H=zl2 gi= 4,501,000& = 1JHA 4,501
< FOMEBXRD > 8,900 6,800 2,100
O ZHARBIMER 8,900,0008 * 144 8,900
< 22t > 18,000 18,000 0
O SHETIE 9S2Y Y24 8,000,002 * 174 18,000
< 2SH0ED > 1,417 0 1,417
O S20UBH=XE MBA MEZ 1,417,000& * 1JHA 1,417
< ANEEMZ > 1,595 0 1,595
O NEBEHZ Mg A8E 1,520,002 * 144 1,520
O AEEAM2 D] X1 gz 75,0002 * 1JHA 75
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O EX(LOHUE L2 =25 500& * 6,00024 = 128 36,000
O XNE(ohH & Lz === 700& * 1,000 = 128 8,400




09 T} 0

200 Mol

210 B HALA+E

213 =2+

B2 0l & 0l s =
O EX(L0F) 28 =2 1,400 * 10024 » 123 1,680
O EX(ohHEd & XIsH 1,000& * 10024 » 123 1,200
O SEdst  URSE = 1,400& = 104 » 128 168
O HIgo SE53AM &= 1,000& * 604 * 128 720
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O sX=g 17,100
o HYgdd =2 2,000& * 300 600
o HAHHY M =8 2,000& * 150A 300
o HHRARSE ga5++2 1,000& * 4,000 4,000
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o EXN(LONUE 500 = 1,400 = 122 8,400
o XH(YoHe s= 7002 * 6002 * 12& 5,040
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[ LetsiA ] 2,085,214 2,177,724 92,510
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& 200 M2l
2t 220 SAIEA L=
g 228 ¢ (ol Hd)
g-a-8-5 Ofl &t T =0l &kY Hns2
o X IH2AHS(14TH) 1,500,000 = 4CH 6,000
o =E=3 WXU= 1,000,000& » 1 1,000
22802 A= RS 624,994 60,000 564,994
[ LetsiA ] 624,994 60,000 564,99
< 3|33 > 574,99 10,000 564,994
O SANE XNH&d=s 1,000,000 = 4524 45,000
O =35 ALOIIE SFML BHaz 529,994,620 * 14 529,994
<S> 50,000 50,000 0
O WSMD ==Zlldi= 50,000,000 = 14] 50,000
228-03 tEHE 397,440 367,440 30,000
[ LEtaA ] 397,440 367,440 30,000
< QIAXIHDY > 61,840 61,840 0
O =SS NHE 50,0009 * 9021 * 122 54,000
O HEANSE Uiz 30,0003 * 2021 « 12 7,200
O R34k SIIAE ot M= 80,000& = 8A 640
<22 > 30,000 0 30,000
O 22 FMH-2 Xl ASEE ALt dH= 1,000,000 = 204 20,000
O oL +2 4305 S48 A M= 1,000,000& = 104 10,000
< TAICIRRI Dt > 8,000 8,000 0
O s/ AL U= 1,000,000& = 8A 8,000
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.m-8-8 0l & 0l s D=2
< SRUFAEEA > 297,600 297,600 0
O II=EA2AHASE = 50,0002 * 524 = 123 3,000
O F34Haeiot A1 MEHE 50,0003 * 221 = 12& 1,200
O 2S48 SII AIF oieh ez 50,0008 * 121 * 122 600
O sk HIEE 2Bt Bz 156,000,000& * 14! 156,000
O NUSX ZIIZA 28 B2 48,000,000 * 14! 48,000
O H&l|AH2eld | LEH= 400,000& * 123 4,800
O Asih2teld 28t ez 7,000,000& » 123 84,000
228-04 A =20l 2 = 523,100 536,100 A 13,000
[ LetsiAl ] 523,100 536,100 213,000
< JHE=X1 > 7,000 7,000 0
O 32UE3Y AetndZ 7,000
o HEERNE 10,000,000& * 70% 7,000
< S AIOISHE > 38,000 43,000 25,000
O HYIZ =YUE U= 25,000,000& = 14! 25,000
O HYI=2teld 28t ez 1,000,000& * 10A 10,000
O 12183 AE7HM fIBtLEZ 25,000& = 1024 = 12& 3,000
< 2= > 10,000 10,000 0
O dst & HICI2=2 S0 28 HE g WA= 2,000,000& * 14 2,000
O SUMAREN 28 HEFD 500,002 * 12044 6,000




& 200 Ml
2 220 SAH AL+
8 228 ¢ (Sl &
g-z2-g-5 Ofl &t S =0l aF Y HnsZ
O Agay M0 28t 88 218 Hd=s 500,000 = 4JH= 2,000
< AEED > 123,000 111,500 11,500
O oldg <18t BENz 42,500
o HEHBSS0IE WEi=S 200,000 * 40 8,000
o HXRSEA OIBIX U= 100,000 * 15024 15,000
© OlSZHALXIS LEHZ 200,000 * 6024 12,000
o HdEOIHAl BEz 300,000 » 252 7,500
O HAlOE 218 WEH= 500,000 = 152 7,500
O &gy gt HE3 1,200,0008 * 6024 72,000
O btz ANTEAIRILH BEHZ 50,0008 * 2024 1,000
< Ol atn > 30,000 30,000 0
O +aH2gy 218 BE 500,000& * 2024 10,000
O &gy 218 1y3 800,000 * 2524 20,000
< A= > 200,000 200,000 0
O =¥ =S 0IHINS 200,000,000 = 14| 200,000
< nSHI > 53,000 62,000 9,000
O NHENSHEFUE S 100,000& * 10024 10,000
O NSNS E+UEZ 200,000 = 52 1,000
O Msitzteld PISEs 50,0008 * 4024 2,000
O Usxt X 8= 1,000,000 * 4024 40,000
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1,500,000& * 6A

500,000& * 3

100,000& * 6A

1,000,000& = 104

2,000,000& * 128

26,000
15,000
2,000
9,000
12,100
1,500
600
10,000
24,000
24,000

21,500

2,100

24,000

4,500

10,000

O ¢dlth= Ztztet 018 Hsldl =¢ 10,000& = 1,000H

23,667,380& « 12&

|H
0
10

>

40,000,000& = 14!

25,1903 = 462MICH « 123

558,037
558,037
10,000
10,000
284,008
284,008
40,000
40,000
139,653
139,653

604,485
604,485

284,008

84,000

123,537

N46,448
N46,448
10,000

A44,000
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< O1QMADE > 30,000 30,000 0

O #ANAxY 222 100,0002 * 10ha * 30 30,000
< SAIHED > 51,931 57,800 A5,869

O SNENSLYSRUIL242 505,880,0009 * 8/100 42,070

O UHAZ X =& 98,618,0002 * 10/100 9,861
< B> 445 13,140 A 12,695

O QST S LA RES2E 2 7,700,000 * 87.745% * 6.6% 445
< ERUASF L > 2,000 2,000 0

O HOIHST 042 U2 2,000,0002 * 14 2,000
229 X|HE =4 870,000 872,000 A2,000
229-01 XItEH =4 870,000 872,000 A2,000
[ 28313 ] 870,000 872,000 A2,000
< H=2D > 850,000 850,000 0

O NdEE ¢ 850,000,000& * 14 850,000
< IE=EXL > 20,000 22,000 A2,000

O HAHESY BES 20,000

o WETLRRE 200,000,0002 * 10/100 20,000
300 XAl 183,017,000 176,729,721 6,287,279
310 XL M2 Al 183,017,000 176,729,721 6,287,279
31 XNYmLA 183,017,000 176,729,721 6,287,279
311-01 XL Al 183,017,000 176,729,721 6,287,279




300 K& w2 Al
310 A& 2 Al
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09 T} 0

11 XL DA (9 &)
.m-8-8 0l & 0l s D=2

[ Let3iA ] 183,017,000 176,729,721 6,287,279
<JlEageE2 > 183,017,000 176,729,721 6,287,279

O ESuFA 166,800,000,000& * 14 166,800,000

O EZ2FHIURA 5,417,000,000& * 14! 5,417,000

O EHULA 4,800,000,000& * 14 4,800,000

O 2t E3 6,000,000,000& = 14! 6,000,000
400 ZENFSYMEEEZ 8,839,314 8,591,265 248,049
420 MEE&EZ3 8,839,314 8,591,265 248,049
21 HWEE2E3 8,839,314 8,591,265 248,049
421-01 HBENS 8,839,314 8,591,265 248,049
[ LBt ] 8,839,314 8,591,265 248,049
< HS > 8,839,314 8,591,265 248,049

O ZME+ MEEEZ 35,585,000,000& * 27/100 * 0.92 8,839,314
500 Ex3 226,900,411 215,439,473 11,460,938
510 =2 EX3S 194,176,078 181,479,315 12,696,763
511 =108X=S 194,176,078 181,479,315 12,696,763
511-01 2 NEXZ 154,026,067 139,197,821 14,828,246
[ Let3iA ] 154,026,067 139,197,821 14,828,246
< AR EE R > 46,032 59,580 A 13,548

O NGaSX Hg=s 46,032,000& * 14! 46,032
< HESADL > 79,972 79,972 0
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60,172,000& » 14| 60,172
19,800,000 » 14! 19,800
38,887 36,718 2,169
17,987,000& » 14| 17,987
20,900,000 = 14! 20,900
82,810 0 82,810
70,734,000& * 14| 70,734
12,076,000& » 14! 12,076
36,485 253,743 A217,258
36,485,000& » 14| 36,485
17,204 14,028 3,176
1,000,000& * 14 1,000
5,999,000& * 14| 5,999
8,157,000& * 14| 8,157
1,020,000& * 14| 1,020
619,000& » 14| 619
409,000& » 14| 409
34,286,422 32,989,872 1,296,550
1,569,400,000& * 14| 1,569,400
633,600,000 * 14 633,600
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g-2-8.5 Off &t ot & 0l Akt =

KA MBI A S XA 343,238,000 * 14 343,238
SEOAE 23 173,352,000& * 14 173,352
NEHAZOIZHEBE>3aH 22LA53H) 112,000,000& » 14! 112,000
KNS dE 224 222,385,000 * 14 222,385
FelAGHI O ZHEEE S2F130) 360,000,000& » 14! 360,000
I =MEBEHZA 20 25,334,774,000& * 14| 25,334,774
ZOHQ ES2X KM 887,799,000 » 14| 887,799
Z0H0tS HEXIZ 252,000,000& » 14! 252,000
ZO0HQ! o= 4] 101,360,000& * 14| 101,360
el 2+ AN 23,118,000& * 14| 23,118
o= 2,762,800,000& * 14 2,762,800
JUSE eyl 600,000 * 14 600
ZOHQ! AHA W =HI 9,432,000& * 14| 9,432
el MHE2RJ| A3 5,200,000& * 14| 5,200
ZoHots==& 170,500,000& * 14| 170,500
ZOHA=A LRl AL 56,018,000& * 14| 56,018
ZOHQ =RIMEH =01 At 44,460,0008 » 14 44,460
ZOHQ! MEAIL JISEL(AE) 270,000,000& * 14! 270,000
O=ZoHel E5&HE JIsE2(IIHEH7Y) 20,000,000& * 14| 20,000
SHUIAIE (Dot etA) 2 443,000,000& = 14 443,000
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& 2x3

2 ENIEES=

& ENIEES=IS (et d e

= O &k o HEE0fl ok Y ] pmE=

O SRS A(MEXIDN) 28 X 58,315,0008 = 58,315
O 8= Toikt (8= AeL) 4,300,000& = 4,300
O IHE=Ed IHESAIE(0E8EH) JIsEd 2,500,000& 2,500
O ol XielAt =ad|2t MEelel ol 40,500,0008 = 40,500
O A2NEXNZEHEE 82,250,000 * 82,250
O OLOISE0IX&AAL 63,261,000& * 63,261
O XN<EotsdE 2EX 359,846,000& = 359,846
O ZOHOHHE OtsLEXJAY 60,480,000 * 60,480
O ZS0I2 TSN HHE 2 49,000,000 * 49,000
O OtsSS X RAHAISIE Y Xtel) K& 233,604,000 = 233,604
O JESEH tsE= 15,067,000 * 15,067
O OISEXANE JISEL (M HESH) 426,000,000& = 426,000
O E=Ad 244 & 258 K& 10,197,366,000& * 10,197,366
O ESAME HE=AE 30,900,000& * 30,900
O ESAE SHsAMg(gel) 51,080,000 * 51,080
O ANEHBIO0IE HE=AS(01E) 14,120,000& * 14,120
O ESAI4 Uil XA (gel) 1,030,000& * 1,030
O ZOHOIMEAIA JNE4=At (HIEFLIO}) 15,000,000% 15,000
O ZOHOIE S AIE ZHIHIXIZ (HIEHLIOF) 2,500,000& = 2,500
O JI8RE0ts doll2EE= X& 9,013,000& * 14! 9,013
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O otsZEXZAZR XN

O Z0jots gees 2x3

O ggots s+ XA

O ZE0/YUIIIELZ WS A

O &gd|gE HIEREW XA

O a4 dit= o3l X1&

O EaxHsE 23

O #3adsotelgs XA

O EadgANE BAE2HAR2Y
O NgdLE FOA2 29

O S3&AESEAE Z20Y 29
O #ad=ga2 2 (XZAH HHRI)

O #AERsAY 29 (XA BHXI)
O NYEAE SSXNEMM== X
O #24 SHIIEH 29¢

O ¥4 423l 29

O EEAHE AlEAME

O Z2IIdi 0l=0d ESAE(&H) 22
O SOHOHLISHAH XIZEAIE 22X

O S0HOH T XEXRHEH 23]

61,992,000
5,993,000
32,474,000
160,398,000
5,000,000& =
144,600,000& =
19,200,000
3,500,000
2,000,000& =
1,500,000& =
8,500,000& =
9,720,000& =
9,720,000& *
40,000,000 *
46,500,000& =
48,000,000 =
300,000,000
44,276,000
61,971,000& =
233,674,000

61,992
5,993
32,474
160,398
5,000
144,600
19,200
3,500
2,000
1,500
8,500
9,720
9,720
40,000
46,500
48,000
300,000
44,276
61,971
233,674
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&: 2x2
2 S EN=I
& 2N8X3E (e JJ)
Z.-2-8.3 Off At oH U & 0f ol HnsZ
O A40I0I8 Ots d=sY 150,650,000& * 14! 150,650
BEESH > 821,610 185,400 636,210
O HAIMAKXISA B2 ALY 219,750,000 * 14 219,750
O dAIMATISI HZ Y| 40,000,000& = 14! 40,000
O &2 WI=3Y LX 70,000,000 * 14! 70,000
O A4 JTME EH3AY 2,660,000& = 14 2,660
O AITHANH XA E 2 S A 209,200,000& * 1A 209,200
O JI=8siE SE2UE =8 50,000,000 * 14 50,000
O HiEdHH 29 Jlgr 2= 100,000,000& = 14l 100,000
O JIZgsHE 22 HE 50,000,000& = 14 50,000
O 2322 24 =3AY 80,000,000 * 14 80,000
S AIDIE I > 4,906,000 0 4,906,000
O A" HIIZ SEXCAIE AEAY 4,000,000,000& = 14 4,000,000
O sUHE HIIZ2 SEHMalAE XA 750,000,000& * 14 750,000
O A2 NATAIE QIZIEXALS 156,000,000& = 14l 156,000
OHg & 2tel o > 1,000,000 0 1,000,000
O 2= HIRIMMEE ALY 1,000,000, 000% 14! 1,000,000
22 > 404,773 404,773 0
O &4 2tz Z208 K& 4,773,000& * 14 4,773
O #ad sZ2Z=z208 X2 (H+2MELEHFHXH) 400,000,000& * 14! 400,000
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1,408,000 864,897 543,103
15,500,000 » 14! 15,500
30,805,000& » 14 30,805
9,182,000& » 14! 9,182
350,000,000& = 14 350,000
350,000,000& * 14! 350,000
5,000,000& * 14! 5,000
37,513,000& = 14! 37,513
84,000,000& = 14! 84,000
15,000,000& » 14| 15,000
21,000,000 = 14! 21,000
245,000,000& = 14l 245,000
175,000,000& * 14! 175,000
70,000,000& » 14| 70,000

531,442 583,932 A52,490
2,172,000& » 14| 2,172
517,270,000 = 14 517,270
12,000,000 » 14! 12,000

546,000 7,454,000 26,908,000
546,000,000& * 14 546,000
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511-03 J13 5,943,038 11,383,002 25,439,964
283 ] 5,943,038 11,383,002 Ab,439,964
M= > 859,679 1,304,947 A445,268
O ZUMSUE (S E)HE S A 750,000,000 * 14 750,000
O MsHSX AlEAIS 5,600,000 * 14 5,600
O 020l Msna 29 4,400,000 14 4,400
O #4249 Megny 29 4,332,000& * 14 4,332
O ==L dEHsils 2Y 4,332,000& * 14 4,332
O o4 MEHsZI 29 1,185,000& * 14 1,185
O Mexsnas 23 6,118,000& » 14 6,118
O MEHds NEX 2 52,320,000& » 14 52,320
O Lodg MEXMSXNEX HHX 31,392,000 * 14 31,392
NHE=EX1 > 72,859 78,055 25,196
O JIMZHToA MSssZ23 2g(6daH) 10,800,000& * 14 10,800
O =TS ESH(HEEEH) 7,000,000 * 14! 7,000
O Il n¥X=238 T2 )8 2 (08 A EHH) 14,000,000 * 14! 14,000
O HlohA Xiggs T2 08 2 (=54 A) 7,200,000& = 14l 7,200
O SDOHOHOIOHAL K& & &EA FEXRALS 5,333,000 * 14 5,333
O SOHOHIIGHAL XIR & Aga PEXZ(ASHEE) 28,526
o ol X|JAS 14,263,000& * 14 14,263
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32,724,333
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N1,235,825
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g-a-8.-3 Ol &k2H & E S 0ff AroH Hns2
O HE30te T2 8 2e|i o2y 9,900,000& * 14! 9,900
< HHXEL > 13,800 13,800 0
O 5.18 eI=/73 Xt A XY 7,800,000 * 14 7,800
O MOISXIZSX XHEEES 6,000,000& * 14! 6,000
< 3| H Dt > 48,172 0 48,172
O NYEx=23 2124d| 48,172,000& » 14 48,172
< QIAX A > 29,268 76,520 NAT 252
O XNE=g S3NE35 ALY 29,268,000 * 14 29,268
< Mekel > 26,250 33,741 AT ,491
O THoHWBEAE FARE= 4,000,000 = 14 4,000
O MHHSHNE=2EH 3,000,000& * 14 3,000
O S0 28 J12dX 2= X2 4,005,000 * 14 4,005
O XN 2iid ¢=H B 1,710,000 » 14] 1,710
O AN&ZE W 724,0002 * 14 724
O stHetz0 Fdl 2 585,000& * 14 585
O ctd=zst2s X3 5,400,000 * 14 5,400
O og?scitE s ol 24 680,000 * 14! 680
O olge =20 Wi ol 24 413,000 » 14 413
O pigelo) & & 23| 273,000& * 14 273
O MEDIYR] AlHOIE 4 &Hl Y 3,000,000& * 14 3,000




& 500 X3
2 520 AlLEHIEXEZ3S
g: 521 Al - SHIEEASS (&&=
.m-8-8 0l & 0l s D=2
O oge nssd dAsg 2,460,000 2,460
< FOIMETA D > 6,711,656 6,367,091 344,565
O SgR3k ¥ ]F =4 N 1,600,000& * 14 1,600
O 2A==XKEAS 82,950,000 = 14! 82,950
O XNDA2AEIAE AALS 73,551,000& * 14! 73,551
O RCIAME 23] 61,912,000& * 14 61,912
O SHOIAE ZelAtel2it] 6,000,000 14 6,000
O MESXMEAL SAA SE22H(S2H) 9,360,000 * 14 9,360
O WESXZSMBAL ABLAY (ST 350,000 * 14! 350
O MNEHAZOIZMEBESSH 2242SSAH) 14,000,000 * 14 14,000
O N9ttty 23| 31,769,000& = 14! 31,769
O NYX2HH SMAE EEY 10,000,000 * 14! 10,000
O =2IMHI(EEFHSH) 45,000,000& * 14l 45,000
O =eD|=Ma2d=g i 20 3,166,848,000& * 14 3,166,848
O AtIEX2 BALL S 51,720,000& * 14 51,720
O ZEgIaAd (s, 222) 2,000,000& = 14 2,000
O Hopel es2x X3 190,239,000& * 14! 190,239
O Z0He!l 2=4l 12,670,000& * 14! 12,670
O Hoi=< 592,029,000& = 1A 592,029
O Zojel=2&3 XA 2,890,000& * 14 2,890
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om-g-2 0l & o 0l s =

O ZISE TeH) 300,002 * 14 300
O Zoko! H DS 1,179,000 * 14] 1,179
O Hoiots =% 36,536,000& * 14 36,536
O HOHOLS THEXIBAY 54,000,000 * 14! 54,000
O ZOHQI=X YKI2l Abed 28,009,0008 * 14! 28,009
O ZoHel =0IdH =201 AHY 22,230,000& * 14 22,230
O S0/& ZOHol =& HEAY 5,700,002 * 14! 5,700
O Al2tEOQl ARSHE 2| 42,716,002 * 14! 42,716
O SHAIZ (OBt RxA) 2| 189,857,000& * 14l 189,857
O ZHQ MEAL (SR, JHLIE) 22 1,295,447 ,000& * 14 1,295,447
O ZOKQ FATUEAIL 2Y| 3,320,002 * 141 13,320
O ZO0HQ! MEAIL SALL SEH 90,960,000 * 14! 90,960
O XNGA2ITHEAE SALL EEH 36,120,000& * 14 36,120
O 0%l 3 ESHE 2| 8,900,002 * 14! 18,900
O ZHF2UESAIE 2HHI(3HL) 47,201,000& * 14 47,201
O HOoHQl MEAld A&, 2AIHI(3HA) 1,505,000& * 14 1,505
O ZHQIMBAIL JSES (M) 135,000,008 * 141 135,000
O BHIAIS(HSBRARAA) JISBY 50,000,000 * 14! 50,000
O =Z0ie EsxE JIsE2OIAHEH7Y) 10,000,000& * 14 10,000
O RE2RAY 196, 175,0002 * 14! 196, 175
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.m-8-8 0l & 0l s D=2
O MaZEEZ2Y 2Y 4,989,000 * 14 4,989
O JtAb - 2t 22 E20] IR ALY 72,874,0008 * 14! 72,874
O Zofol HEARE A0 BHElR] B2 &3 3,750,000 * 14! 3,750

< JHE=EXL > 12,734,445 10,575,866 2,158,579
O L=S20| HIRHAIS 66,303,000& * 14! 66,303
O SHLIMET T AL THAANY 46,269,000& * 14 46,269
ORPIEE= T 1,580,220,000& * 14 1,580,220
O LolgXtelAtd Mg =& S08IS 23,887,000& * 14! 23,887
O LoldXtel dgeldd ol 2,025,000& * 14 2,025
O colgXtelAtd 0 A el2d| 257,250,000& * 14 257,250
O CoIYTRIAIR ALIOI2E e 7,500,0002 * 14! 7,500
O AlLIGZEE 224 23,625,000% * 14! 23,625
O DIZkaid|a2 S olAXe|Ar (610Y) 239,850,000& * 1A 239,850
O LoIgTi2lAtg +80|2 FEole olziy) 20,250,000 * 14! 20,250
O RS SHLQ FAHEZME ALY 12,000,000 * 14 12,000
O H=oldaal MHEZD] 3,800,000& * 14l 3,800
O BZAl=E Lol ot241|D| 17,010,000& = 14! 17,010
O Hetel SESSE 29| N (S48, 3tdH 20, A A 24,000,000 * 14! 24,000
O gtel 28 A= 100,000,000& * 14l 100,000
O XE0tsHyH 28X & 179,923,000& * 14! 179,923
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2 520 Al SHIEX3S

& 521 Al - SHIEX 23S o

F.z.-g.2 O &k rSIEL= PN =

O OFSEXRAHAIEIELXI2]) XA 50,058,000 * 14! 50,058
O AM&0tS tHetXIs X2 4,000,000 * 14! 4,000
O 8310t NS 6,750,000 * 14! 6,750
O E40ts NEF2 2,250,0002 * 14 2,250
O OISEXAE 29X 193,815,000 * 14! 193,815
O OISSXNALE2IH(MESE, SANSESS, MLEDQ) 78,440,0002 * 124l 78,440
O DES=EH ots2E3s 11,300,0002 * 14 11,300
O OISEXALE JIISEL(HLESH, A6H) 211,000,0008 * 14 211,000
O OHOISE0IXI ALY 13,556,000 * 14! 13,556
O ZE0I0X IHEXNAHEH 29 10,500,000 * 14! 10,500
O ZE0/2UXIIE S2NF At 34,371,000 * 14! 34,371
O IS QIAESAIE ESDAILY 16,960,000 * 14! 16,960
O A2l XX 10,560,000 * 14! 10,560
O BSA4 29H 2 282 I 5,098,683,000& * 14! 5,098,683
O ot & ZOHOF MEAIE H2H| XA 1,620,000 * 14! 1,620
O HOoF L HOHOINE AL BSAK Sg4Y 87,360,000 * 14! 87,360
O AEOZI0IZ HEA(0IH) 7,060,000 * 14! 7,060
O BESAE HESAY 15,450,000 * 14! 15,450
O BEAI4 SH=AL () 25,540,000 * 14! 25,540
O ESAIE HYIHl X(el) 515,00080 = 1JHA 515
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O THONFSAIL HB2=ALR (HIEILIOH) 15,000
O HOHESAIE ZulblXI& (HEHLIOH) 2,500,000& * 1JHA 2,500
O ZAlots sAKE 21,725,000& * 14 21,725
O &J|s Ots=4ltl 463,410,000& * 14! 463,410
O 9= OtssaX# 109,755,000& * 14! 109,755
O Al40l0IE8 ots dsY 75,325,000& * 14l 75,325
(OIS ENE D) P EpNE ] 1,008,000& * 14! 1,008
O AHAHIJEANN =22 17,280,000 = 14! 17,280
O AHAHIMNE HEXEA=3 9,000,000& = 14 9,000
O AgAHIIEAN EE M=l 7,200,000 * 14 7,200
O JIERIE0ts doi2gz XN& 2,450,000 » 14 2,450
O OtsSZERIAHZ X 13,284,000& * 14! 13,284
O ZHots BAUA=F 2= 1,284,000 * 14 1,284
O ZOHOIHE OtsY=s 223 12,960,000& = 14! 12,960
O gots 2= XA 6,958,000& * 14 6,958
O JE=g 2= & 13,104,000& * 14 13,104
O LoE)IQYAEE S0HI(LUMEAL, THIHC-AIA) 2,002,723,000& * 14 2,002,723
O Z2Y 2ZHl ¥ H2Hl K= 108,075,000& * 14! 108,075
O 22Y BHS AL 2GHI(012AI 01X 2) 5,000,0002 * 14! 5,000
O NES A THAAS (4H2L) 73,440,000& * 14! 73,440
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om-g-2 0l & o 0l s HIDEY

O =22 S AL (2 2) 22,377,002 * 14! 22,377
O THIH-QIALAHH AR (3DH4) 3,940,008 * 141 3,940
O Z2AY RE34A(50HL) 55,252,000& * 14 55,252
O LoI=TAL 2FY 2 &) 1,607,002 * 141 1,607
O LoI=TAL SEBEY| 825,0008 * 14! 85
O LoSXAIE SEa34HI(13002) 13,525,000& * 14 13,525
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